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Note : Attempt all questions. Marks are 

indicated against each question. 

Note : Answer question nos. 1–5 in about  

500 words each. 5×10=50 

1. Identify the regional divisions of Great 

Plains of India and discuss their 

geographical features in detail. 

Or 

 Define river basin. Write in detail about the 

major river basins of India. 
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2. What is land degradation ? Describe in 

detail any two components of land 

degradation with suitable examples. 

Or 

 Describe the patterns of distribution of 

groundwater resources in India. Discuss five 

important uses of water. 

3. Write in detail the importance of agriculture 

in Indian economy. 

Or 

 Discuss the developments in the industrial 

sector in India with reference to recent 

developmental programmes. 

4. Discuss the salient features of trends of 

population growth in India from 1901 to 

2011. 

Or 

 What is settlement ? Classify and explain 

the types of settlements on the basis of size 

and housing density. 

5. Write in detail the contribution of 

Bendapudi Subbarao for identifying the 

socio-cultural regions of India. 
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Or 

 Describe in detail the scheme of economic 

regionalisation of India devised by Asok 

Mitra. 

6. Attempt any five of the following questions 

in about 250 words each : 5×6=30 

 (a) What are main difference between the 

wet season and the season of retreating 

monsoon in India ? 

 (b) What is soil ? Briefly describe two 

 important characteristics of black soil 

 and laterite soil. 

 (c) Explain the concept of afforestation 

 with two suitable examples from India. 

 (d) How is a renewable energy differ from 

non- renewable energy ? Briefly discuss 

one  renewable and one non-renewable 

energy resource.  

 (e) What is transportion ? Describe the 

factors that affect the development of 

transport network in India. 

 (f) Explain three types of population 

 pyramids on the basis of shape. 
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 (g) Explain by ‘three tectonic divisions’ of 

 India presented Spate and Learmouth. 

7. Write short notes on any five of the following 

in 150 words each : 5×4=20 

 (a) Major drought prone area of India 

 (b) Conservation of mineral resources 

 (c) Atomic energy 

 (d) Western dedicated freight corridor 

 (e) Urban agglomeration 

 (f) Imperatives for choice vs. option in 

 transfer of technology for development 

 (g) Positive impacts of green revolution in 

 India 
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 BGGET–141 

foKku Lukrd (lkekU;) (lh-ch-lh-,l-) 

(ch- ,l&lh- th-) 

l=kar ijh{kk  

twu] 2025 

ch-th-th-bZ-Vh-&141 % Hkkjr dk Hkwxksy 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad mlds 

lkeus bafxr g®A 

uksV % iz'u la[;k 1&5 rd izR;sd dk yxHkx 500 'kCnksa esa 

mÙkj nhft,A 5×10=50 

1- Hkkjr ds fo'kky eSnkuksa ds izknsf'kd foHkktu dh igpku 

dhft, vkSj muds HkkSxksfyd y{k.kksa ij foLrkj ls ppkZ 

dhft,A 

vFkok 

 unh nzks.kh dks ifjHkkf"kr dhft,A Hkkjr dh izeq[k unh 

nzksf.k;ksa ds ckjs esa foLrkj ls fyf[k,A 
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2- Hkwfe fuEuhdj.k D;k gS \ Hkwfe fuEuhdj.k ds fdUgha nks 

?kVdksa dk mi;qDr mnkgj.k lfgr foLrkj ls o.kZu dhft,A 

vFkok 

 Hkkjr esa Hkwty lalk/kuksa ds forj.k izfr:i dk o.kZu 

dhft,A ty ds ik¡p egRoiw.kZ mi;ksxksa dh ppkZ dhft,A 

3- Hkkjrh; vFkZO;oLFkk esa Ïf"k ds egRo ij foLrkjiwoZd 

fyf[k,A 

vFkok 

 uohu fodklkRed dk;ZØeksa ds lanHkZ esa Hkkjr ds 

vkS|ksfxd {ks= esa gq, fodklksa ij ppkZ dhft,A 

4- 1901 ls ysdj 2011 rd Hkkjr esa tula[;k o`f¼ dh 

izo`fÙk;ksa dh eq[; fo'ks"krkvksa ij ppkZ dhft,A 

vFkok 

 cLrh@vf/kokl D;k gS \ vkdkj ,oa vkokl ?kuRo ds 

vk/kkj ij cfLr;ksa@vf/koklksa ds izdkjksa dks oxhZÏr djds 

O;k[;k dhft,A 
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5- Hkkjr ds lkekftd&lkaLÏfrd {ks=ksa dh igpku djus esa 

csankiqnh lqCckjko }kjk fd, ;ksxnku ij foLrkjiwoZd 

fyf[k,A 

vFkok 

 v'kksd fe=k }kjk rS;kj dh xbZ Hkkjr dh vkfFkZd 

izkns'khdj.k ;kstuk dk foLrkj ls o.kZu dhft,A 

6- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj yxHkx  

250 'kCnksa (izR;sd) esa nhft, % 5×6=30 

 (d) Hkkjr esa vknzZ ekSle ,oa fuorZuh ekulwu ds ekSle ds 

 chp izeq[k varj D;k gSa \ 

 ([k) e`nk D;k gS \ dkyh e`nk ,oa ySVsjkbV e`nk dh nks 

 egRoiw.kZ fo'ks"krkvksa dk la{ksi esa o.kZu dhft,A 

 (x) Hkkjr ls nks mi;qDr mnkgj.kksa ds lkFk  ^oukjksi.k ;k 

 ouhdj.k* dh ladYiuk dh O;k[;k dhft,A 

 (?k) uohdj.kh; ÅtkZ xSj&uohdj.kh; ÅtkZ ls fdl 

 izdkj fHkUu gS \ ,d uohdj.kh; ,oa ,d 

 xSj&uohdj.kh; ÅtkZ lalk/ku ij la{ksi esa ppkZ 

 dhft,A 

 (³) ifjogu D;k gS \ Hkkjr esa ifjogu tkyra= dks 

 izHkkfor djus okys dkjdksa dk o.kZu dhft,A 
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 (p) vkdkj ds vk/kkj ij tula[;k fijkfeM ds rhu 

 izdkjksa dh O;k[;k dhft,A 

 (N) LisV ,oa fy;jeFk }kjk izLrqr dh xbZ Hkkjr dh ^rhu 

foorZfud foHkktu* dh O;k[;k dhft,A 

7- fuEufyf[kr esa ls fdUgha ik¡p ij yxHkx 150&150 'kCnksa 

esa laf{kIr fVIif.k;k¡ fyf[k, % 5×4=20 

 (d) Hkkjr ds izeq[k lw[kkxzLr {ks= 

 ([k) [kfut lalk/kuksa dk laj{k.k 

 (x) ijek.kq ÅtkZ 

 (?k) if'peh lefiZr Hkkj ;krk;kr ekxZ 

 (³) uxjh; lewgu 

 (p) izkS|ksfxdh ds gLrkarj.k esa fodYi cuke fodYi dh 

 vfuok;Zrk 

 (N) Hkkjr esa gfjr Økafr ds ldkjkRed izHkko 

× × × × × 

 

 

 

 

 


